Day 04 Graphing Quadratic Functions in Vertex Form

List everything you know about the Square Function below.
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Graph each function on your calculator and fill in the table. What patterns do you notice?

a. y=x - b. y=2x? c. y=%xz 'd. y=-3x?
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What have you discovered about the square function so far?
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Steps to graphing a parabola when it is in vertex/graphic form: f(x) =a(x - h)* + k
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Find the vertex by shifting horizontally and vertically, which gives you the vertex (h, k).
Plot the vertex and determine whether the parabola opens up or down according to a.
Use the 13, 33, 52 shortcut to plot five “happy” points and draw the parabola

Each parabola described is a transformation of the parent function f(x) = x*. Write an equation for each. )

Description of thte tra!-lsformation ' Equation of‘the new function
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Graph each quadratic function with 5 points. Then state the vertex, the equation of the axis of symmetry, and
the domain and range in interval notation.

6.f(x)=-(x-1)*+2
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